
Rozložit na součin: Umocni: vynásob: 

a2 – 4 = (a – 5)2 = (a + 6)(a – 6) = 

4b2 – 49 = (4b – 3)2 = (b + 0,5)(b – 0,5) = 

25c2 – 1 = (6c – 7)2 = (7c + 11)(7c – 11) = 

8d2 – 18 = (d – 8e)2 = (0,3d + 1,2)(0,3d – 1,2) = 

25e2 – 25 = (9e – 1)2 = (e + 3f)(e – 3f) = 

36f2 – 100 = (5f – 11g)2 = (fg + h)(fg – h) = 

3g2 – 3 = (g – 0,6)2 = (7g + 4h2)(7g – 4h2) = 

12h2 – 75 = (0,5h – 3)2 = (h + g)(– h – g) = 

0,8j2 – 1,8 = (2,5j – 6)2 = (5j – 2k)(– 5j – 2k) = 

 (6k – 0,8)2 = (5k3 + m)(5k3 – m) = 
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